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(ENVIRONMENTAL SCIENCES)

1. In India, single use plastic of thickness
was banned recently (in 2022).

(A) Less than 75 micron
(B) More than 75 micron
(C) More than 750 micron
(D) All types of plastic bags

2. One of the following pre-condition is not true
for Hardy—Weinberg equilibrium:

(A) No selection

(B) Non-randomly mating population
(C) No mutation
(D) No gene flow

3. COP 26 was held at
(A) Glasgow
(B) Copenhagen
(C) Paris
(D) Durban

4. What is the proportion of the frequency of
occurrence of La Nina compared to El Nino?

(A) Half
(B) %rd
(C) Twice

(D) %rd

S. Who introduced the term siderophile,
chalcophile, lithophile and atmophile?

(A) Clarke (1924)

(B) Goldschmidt (1923)
(C) Ringwood (1975)
(D) Cameron (1737)

1. ©RCS, @35 72 AT 9% (thickness)
TN (2022) A2 g st s@e |

(A) 75 BT I

(B) 75 WE@Ea @R

(C) 750 Siz@ea @A

(D) T8 LJCTF APALS glol

2. fagferive as=Safem W @ “Hardy-
Weinberg SN -4 &) AfSF w31 2

(A) @I i = =1

(B) FE[—?]WW%I (% (Non-randomly mating)
NS

(C) It e+ =7 =i
(D) (FIC fere 2/@1Z (gene flow) T =1

3. ‘COP 26’ (I 26) Sfo® =7
(A) ™Al (Glasgow)
(B) CiteiRical« (Copenhagen)
(C) *ifa™ (Paris)
(D) ©iK<I« (Durban)

4. GETIACAIF GERIR ST T WOIA S

(A) WS (Half)
(B) TF7 TRHI (%rd)
(C) fawel (Twice)
(D) 72z oI (2 )

5. PrrewRIwEa, InEEwied, FawEe a3k

SHGIRRIRE w2 (& SRS Feae 2
(A) FF (Clarke) (1924)
(B) (552 (Goldschmidt) (1923)
(C) fR®T (Ringwood) (1975)
(D) FES (Cameron) (1737)

[ Please Turn Over ]



33-11
6. PIXELS are known as
(A) Smallest Unit of Vector Cell
(B) Smallest Unit of Raster Cell
(C) Name of Satellite
(D) Name of Sensor

7. The mosquito repellents used at homes at coil or
liquid form are

(A) Sedatives
(B) Rodenticides
(C) Insecticides
(D) Fertilizers

8. Which of the following is the main reason for
green house effect?

(A) Absorption and re-emission of UV rays

(B) Absorption and re-emission of Visible
rays

(C) Absorption and re-emission of Infrared
rays

(D) Absorption and re-emission of X-rays

9. International Day of Natural Disaster Reduction
is celebrated on

(A) June 15

(B) March 15
(C) October 13
(D) September 13

10. Exfoliation is a form of
(A) Physical weathering
(B) Chemical weathering
(C) Biochemical weathering

(D) Mass wasting

X—4

6. ‘PIXELS - 91l &
(A) (O3 FCFA | (IS FAFF TG A5
(B) PIGIA FCHA A (FIEF AR Fa 45
(C) SRR I
(D) GTIE

7. e @ AW FEE 9L T -

(A) Do (Sedatives)

(B) @WW (Rodenticides)
© Wﬂw (Insecticides)
(D) wIfbeigeia (Fertilizers)

8. fgfeie 2ue Frasle s @b foam 2%
GFF 97 T 7T 2

(A) UV-af@ <iiel @3z ofisfaisorael

(B) 7l SRR (eiel G fefeeTael
(C) ZIE IR (<ol @R fezfeorael
(D) @ (X) A= cairzel @ sjwefesTe

9. @I el wgwifes s Ko gt =t
(Internation Day of Natural Disaster Reduction) f21ta
2ol I 2 2

(A) G 15 (June 15)

(B) =6 15 (March 15)

(C) SIC3[4 13 (October 13)
(D) @594 13 (September 13)

10. IIEEHT (exfoliation) OF 4@ [ep=
5]

(A) (oIfes ST (Physical weathering)

(B) IMRWF 2 (Chemical weathering)
(C) teRarafes =azf@Fd (Biochemical

weathering)
(D) WP @@L (Mass wasting)



11. Which of the following has high density of
biodiversity?
(A) Savannas
(B) Moist deciduous forest
(C) Tropical rainforest
(D) Mangrove forest

12. The zone of a Biosphere Reserve, where no
human activity is allowed is

(A) Fringe zone
(B) Buffer zone
(C) Core zone

(D) Restricted zone

13. Which group of organisms contains the greatest
amount of energy in an ecosystem?

(A) Heterotroph
(B) Decomposer
(C) Autotroph
(D) Scavanger

14. The autotrophic component of a pond is
(A) Water
(B) Zooplankton
(C) Fungi
(D) Phytoplankton

15. How much carbon is present in the dry mass of
wood?

(A) Approximately 23%
(B) Approximately 50%
(C) Approximately 70%
(D) Approximately 90%

X-5
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11. fsfarie @@eiba e T weees S St 2
(A) el
(B) T1& (efmgam awizes
(C) GforereT Jfomre Tmieest
(D) SHICES Jeieea

12. AiFER {Eiesa @ S NEd SiEa
(activity) IQIREE:

(A) Ty cit
(B) IR (e
(C) @R (&il=
(D) EAGTEC @

13. TS (@9 GRANDE W&y FAE @R WS
QN ?

(A) @EEGEA
(B) T&=r=irerz
(C) SIGEA
(D) Hte®R

14. 93T 7RI FroGl Somie 25
(A) eel
(B) GaTIFo
(C) =A< (Fungi)
(D) RGO

15. I T GF ORI PR 2A Fo 2
(A) 219 23%
(B) &rd 50%
(C) & 70%
(D) &= 90%
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16. Ecosystem services of a wetland include—
(A) Mitigation of flood
(B) Groundwater recharge
(C) Conservation of biodiversity
(D) All of the above

17. Match List-1 with List-11. Identity the correct
code from the codes given below:
List-1
(i) Appiko movement

(i) Silent valley
movement

List-11
(a) Kerala
(b) Karnataka

(iii)) Chipko movement
(iv) Jungle Bachao
andolan

Codes:

1 @Gy @) (v)
A @ @® @© @
B) ® @ (@ (o
© © @ @ O
D) @ @ (@© O

(¢) Jharkhand
(d) Uttarakhand

18. Match List-1 with List-11. Identity the correct
code from the codes given below:

List-1 List-11
(Projects) (Organisation)
(1) MAB (Man and the (a) WMO

Biosphere Programme)

(ii)) HEAL (Human Exposure (b) ITUCN
Assessment Location)

(iii)) SSC (Species Survival (c) UNEP
Commission)

@iv) IPCC (The Intergovern-  (d) UNESCO

mental Panel on Climate
Change)

Codes:

i Gy G @v)
A @ © b (@
B) © (@ @ (O
© @ O (@© (@
D) ® © (@ @

X-6

16. TErefEIREeilE sifaafshiie abcoeve
FE—

(A) IV SNGHRCAT

(B) T-519% G(aTd fabier
(C) GReafbcard ARl
(D) T 7S

17. ©fFd-l @3 A OfFH-1l B <6 | [
ST (A0 AT (@I’ [T FeEee

©Iferer-1 ©Iferpr-11
(i) i SNwE (a) &
(i) ZETS SN ST (b) FeA6F
(iii) fooICH SICwET (c) TS
(iv) e Aol Sievie (d) Sedike

PTG 8

» @ aG)  3Gv)
A @ G (© (@
B) (b @ (@ ()
© © @ (@ O
M @ @ (© O

18. Ol @3 A ©fFH-1l W6 P | o
@O (A AT (@B Mol FeFe 2

OIferAr-1 ©IferPr-I1
(2f%) (zifewi)
(i) MAB (309 SUT® AR@FFNT - (a) WMO
coiaiT)
(i) HEAL (2w @3reaieia (b) TUCN
SRS (ST
(ili) SCC (P Areizem (c) UNEP
i)

(iv) IPCC (TBRSISHoIe 20w (d) UNESCO
[ FIREG (5&)
(PTG
@ G Gi) o @Gv)
A @ (© b (@
B) () @ (@ (b
© @ @ © @
D)y b © @ @



19. Match List-1 with List-11. Identify the correct
code from the codes given below:

List-1 List-11
(National Park) (State)
(1) Jim Corbett (a) Uttar Pradesh
(i) Dudhwa (b) Assam

(iii) Kanha
(iv) Kaziranga
Codes:

1 @Gy @) @1v)
A @ @®d © @@
B) © @ (@@ (O
© © @ O @
D @ @© @ ®

(c) Uttarakhand
(d) Madhya Pradesh

20. Wildlife week is celebrated every year in India
during.

(A) 15th October to 21st October
(B) 2nd October to 8th October
(C) 14th June to 20th June

(D) 7th August to 13th August

21. Which one of the following is the best option for
setting up of a nature reserve?

(A) High edge to area ratio

(B) Unlinked reserves

(C) Surrounding area of different ecosystems
(D) Surrounding area of same ecosystem

22. Which one of the following is the largest
biogeographical zone in India?

(A) Semi-arid region
(B) Gangetic plain
(C) Trans-Himalayan region

(D) Deccan Plateau

X-7
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19. Ofal @7 AL OfFF-I B FFA | [HD
@Ol (A AT (@Ol Mol FFe 8

©IferRr-1 TRl
(TSI TwpleT) (srem)
(i) fer a6 (a) TeaLm=l
(i) wHeal (b) =P
(i) (c) TeAe
(iv) Fife=m (d) rem=!
(T3

» @@ aG) 3G
A @ G (@© (@
B) (© @ (@ (©®
<€ © @ b (@
M) @ () (@ (O

20. TV AR A =T SRS @ FE TS
‘Tg[_

(A) 15 SR (A 21 SIS
(B) 2 SI(ERAA (AF 8 (BT
(C) 14 T (T 20 T

(D) 7 S19RG (ACF 13 9P

21. AiFfes Sree (Nature Reserve) (ofd 00
fAHfere (@ AT i TR

(A) 22T (edge)- 970 AR (area) TS
(B) Wi@ ﬁ'\ﬁéﬂ (Unlinked reserves)
(C) MfoniE wAfames feq agog

(D) ~Nfaolfefs sifamets 3 argeg

22. fasfife @Rl oo {iges ARfEwiafkeee
ST ?

(A) GIfN-«@fS® (Semi-arid) S1% (Region)
(B) s Wﬁl (Gangetic Plain)

(C) GisfaeTae e (Trans-Himalayan
Region)

(D) (B3 &G (Deccan Plateau)
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23. Match the List-I and List-11. Select the correct
match from the codes given below:
List-1
(a) Keystone species
(b) Flagship species
(c) Indicator species

List-11
(i) Giant Panda
(i1) Spotted Owl
(iii) Bison

(d) Umbrella species  (iv) Brook Trout

Codes:

@ @ @© @
A @ Gv) @) (D)
B) @) i) Gv) @)
© Gi)y (G @(Gv) (i)
D) Gv)y (@) @) (D)

24. The phenomenon of having higher number of
species in an ecotone is called

(A) Abundance
(B) Frequency
(C) Dominance effect
(D) Edge effect

25. Which one of the following category includes
seed bank?

(A) Ex—Situ conservation
(B) In—Situ conservation
(C) Social and cultural conservation

(D) Economic conservation

26. Whatis the spatial resolution of LISS-III Sensor?
(A) 23-5 meter
(B) 5-8 meter
(C) 2:0 meter
(D) 1-0 meter

27. Which rock is more weathering resistant?
(A) Granite
(B) Limestone
(C) Quartzite
(D) Phyllite

23. OfFFLl @3 A OfFRLI S T | [
@Rl (A AT @eh FE T g

©Iferel-1 OiferpI1
(a) SEOH =P (i) SIS =Ml
(b) zlaiferel =AY (i) =TT Wi (o)
(c) BfECR6a =AM (i) T
(d) SINEET =B (iv) = GICH
PIT ¢

@@ b © (@
A) @ Gv) (i) (3
B) ) @) @Gv) @
© @G (@ aGv) (@)
D) Gv) O (i) (3Gi)

24. g3 FFGIE T AR 2GS ARFT ABAIE
A
(A) SUIRIECE™ (Abundance)
(B) P (Frequency)
(C) Tfile ™ «$ (Dominance effect)
(D) @& Gl (Edge effect)

25. 3w iz faslerie @i i sresfs?
(A) GF-p FTSACSH
(B) Z7-Pip SaeiiceHi
(C) e @ Ficghos FaCe=
(D) ST TSRS

26. LISS-III GWPIAR (Sensor) C=IRX& (Spatial)
@EIfETEI (Resolution) 2
(A) 23.5 0=
(B) 5.8 o
(C) 2.0 o=
(D) 1.0 fo=

27. @9 BEl @ ermifts @fEEES (Weathering
resistant) ?
(A) 225 (Granite)
(B) #ZGEH (Limestone)
(C) FRMGEIEs (Quartzite)
(D) 135 (Phyllite)



28. Which one of the following is a continental
hotspot?

(A) Reunion
(B) Macdonald
(C) Hawaii
(D) Afar

29. Urban areas canbeidentified by remotely sensed
data using the following rectification:

(A) Urban mapping
(B) Orthoimaging

(C) Urban imaging
(D) Density slicing

30. Palaeochannel can be described as
(A) Alluvial plain

(B) Remnant of an inactive river or stream
channel

(C) Older plain
(D) Younger plain

31. For groundwater exploration in hard rock areas
the best feature can be

(A) Fractured rocks

(B) Folded rocks

(C) Interconnected fractured rocks
(D) Kink folds in rocks

32. Porosity of gravel is less than clay but its
permeability is

(A) Low
(B) High
(C) Not good
(D) Very bad

X-9 33-11

fa

28. =il @G SO 262G (Continental
hotspot) ?

(A) T2 (Reunion)
(B) sIscelTe (Macdonald)
(C) 7 (Hawaii)

(D) SIS (Afar)

29. GG @R “ARPIRAE (data) @ & AL
(Rectification) S *2AILET(F *SFI] I 23 2

(A) ST {22 (Urban mapping)
(B) wefizfeR (Orthoimaging)

(C) = 2R (Urban imaging)
(D) (BRI WPk (Density slicing)

30. “ESHEs & 9 s T
(A) SriEfeate e (Alluvial plain)

(B) e ol (Inactive river) =<l w67l
(Stream Channel) SRf#@i< (Remnant)

(C) “JTod AT@s (Older plain)
(D) 9ok resT (Younger plain)

31. G oML TG S -G Sl ST TBI2CS
St ATy ==

(A) ToeR& (Fractured rocks) #id
(B) wiey& 12 (Folded rocks)
©) Wﬂ@m‘?ﬁ%(lmerconnected

fractured rocks)
(D) &= wiege #1123 (Kink folds in rocks)

32. JGAAET (Gravel) e@el (Porosity) FwisIIG
(Clay) (2F 3, € ©F (ewel (Permeability) 21

(A)

(B) caf
(C) St ¥
(D) ¥ <=l
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33. Which rock is more prone to landslides?
(A) Sandstone
(B) Granite
(C) Slate
(D) Limestone

34. Which mineral shows high grade of
metamorphism?

(A) Chlorite
(B) Staurolite
(C) Mica
(D) Calcite

35. Runoff consists of
(A) Surface runoff
(B) Groundwater flow

(C) Precipitation over catchment area
(D) All of the above

36. Which one of the following materials has the
highest porosity?
(A) Clay
(B) Silt
(C) Gravel
(D) Sandstone

37. The hydraulic conductivity of a rock is
expression of its

(A) Permeability
(B) Porosity

(C) Water retentivity
(D) Yield potential

X-10

33. @ AN @ ghienT 2192
(A) SR (Sandstone)
(B) 125 (Granite)
(C) GG (Slate)
(D) #IZIGHH (Limestone)

34, @9 AT AW THVEA (grade) TATET
(metamorphism) (¥ ?

(A) GG (Chlorite)
(B) SRR (Staurolite)
(C) =19 (Mica)

(D) FERTEG (Calcite)

35. FeE (Runoff) fsferie @fba et snifde
(A) A 9 (Surface Runoff)
(B) ¢-9I®% ©GTH 2z
(C) G5 (Catchment) 1265 ?[%‘7%
(D) 02 0

36. FwfTiowlE Wy @@E fe@wel (Porosity)
BIRCS @2

(A) & (Clay)

(B) F5 (Sily)

(C) 4itest (Gravel)

(D) SRS (Sandstone)

37. @ NUAEI (rock) TYTF FACIFHGHF
(Hydraulic conductivity) &< =&

(A) ARBRIEEADT (Permeability)

(B) (#NAFIG (Porosity)

(C) <o RGAbfeh (Water retentivity)
(D) T=T (oG (Yield potential)



38. The present day atmosphere and oceans are a
result of

(A) Cosmic precipitations
(B) Volcanic eruptions

(C) Primordial ocean and atmospheric
evolution

(D) Solar and planetary forces

39. Pedology is related to
(A) Soil
(B) Vegetation
(C) Water
(D) Animal

40. Which of the following belongs to the category
of nuclear disaster?

(1) Fukushima disaster
(i) Chernobyl disaster
(iii) Three—mile island incident
(iv) The Love Canal disaster
(A) (i), (ii) and (iii)
(B) (1), (i1) and (iv)
(C) (1), (iii) and (iv)
(D) (i), (iii) and (iv)

41. Pegmatites can be explained as
(A) Early magmatic intrusives
(B) Late magmatic intrusives
(C) Old magmatic intrusives

(D) Non-magmatic intrusives

42. Harmonic tremor is a more or less oscillating
ground motion during volcanic eruption with a
frequency of

(A) 01 -0-5Hz
(B) 0-5-10Hz
(C) 10— 100 Hz
(D) 100 — 1000 Hz

X-11
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38. IEATT AYNGE € TG P T FoEe
(A) R AMPIEG* (precipitation)
(B) Sl BA19I (eruption)

(C) ZafGae (Primordial ) Y €3 AFNSTE
[RRIcT

(D) GTIF @ oI I (force)

39. (ATl (Pedology) TR A 7o
(A) e
B) W(Vegetation)
(C) &
(D) =it

40. fsfafie @maf eiram R
(i) FFHm o
(i) aERe Rsida
(iii) f2-wiZet SrzeTICEs 9ol
(iv) &Te e [
(A) (), (i) €% (iii)
(B) (i), (i) G (iv)
(€) (i), (iii) €% (iv)
(D) (i), (iii) 9% (iv)

41. (ASNGIRGAE (Pegmatites) (TSI I A I-—
(A) % (early) SToIF ?ﬂfﬁ!w
(B) TAPTIEA 2I(A (late) SHoNTF SGPTS
(C) e (old) oI 2GRTSR
(D) S-3p1aifb<s 2GR

42. TWF 999 (Harmonic tremor) 251 FNCIHI
TGS S8 NI (Oscillating ground motion), e
AT TR T AT Flere @ fRrahics

(A) 0-1-05Hz
(B) 0-5-10Hz
(C) 10-100 Hz
(D) 100 - 1000 Hz
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43. The discharge per unit drawdown of a well is
called

(A) Specific storage
(B) Specific yield
(C) Specific capacity
(D) Specific retention

44. Plate motions are recognized by
(A) Their relative motion to one another
(B) Their motion with respect to fixed points
(C) Their motion with respect to poles
(D) All of the above

45. A geological formation thatneither contains nor
transmits water is called

(A) Aquifer

(B) Aquiclude
(C) Aquifuge
(D) Aquitard

46. The linear law of flow of groundwater was
given by
(A) H. Darcy
(B) D. E. White
(C) H. H. Cooper and C. E. Jacob
(D) V.T.Chow

47. An associated trouble with rising water table is
(A) Loss of nutrients
(B) Loss of good quality water
(C) Increase of salinity of soil

(D) Increase of turbidity

X-12

43. 35 ol fople 2 @ GoieH (Discharge per
unit drawdown) (& T 27

(A) CIPRRS EOICRS (Specific storage)
(B) ¢If1f%s 27® (Specific yield)

(C) IR =B (Specific capacity)
(D) b [maie (Specific retention)

4. (2057 ofS @I FiFe Tw—
(A) e S sifoq esm
(B) e @mrcs foda 33 @ oifo =
(C) e (Pole)-& F$a o3 @ sfe =
(D) _FH2 5%

45. oIfes 1017 @3 w1l A el et 4 A
<1 I 2R RS I J—

(A) SUIFRTIT
(B) “UIFEFT
(C) SrgEfree
(D) SUIFEDIT

46. -7 T 2[R (AT I i s —
(A) «@2p. ©IART (H. Darcy)
(B) T©.3. @726 (D. E. White)

(C) @2p. €35, F91F @k 1. 3. 7199 (H. H.
Cooper @< C. E. Jacob)

(D) fe. 5. 1€ (V. T. Chow)

47. TR <6 GRER (Water table) Al 7=oiiFe
Qb T 23
(A) RGeS F e
(B) TeF? &l TG Alel
(C) Ffewrs i g
(D) BIffeHa (turbidity) I



48. A volcanic eruption will be violent if there is
(A) High silica and low volatiles
(B) High silica and high volatiles
(C) Low silica and low volatiles
(D) Low silica and high volatiles

49. Which one of the following is a sedimentary
cycle?
(A) Oxygen cycle
(B) Nitrogen cycle
(C) Hydrogen cycle
(D) Phosphorus cycle

50. The most efficient device for removal of
particulate pollutants from flue gas is

(A) Fabric filter

(B) Electrostatic precipitator
(C) Centrifugal collectors
(D) Settling chamber

51. Which one of the following analytical technique
is used to measure sodium?

(A) High pressure liquid chromatography
(B) Gas chromatography

(C) Flame photometry

(D) Visible spectrophotometry

X-13

33-11
48. Tgesited Sl e e e @l siffs
(A) Twaar Pile g3k w9 et
(B) Twagi Hifeel @k @1 Taish
(C) = Hiferat @3k w1 Tt
(D) % HifeT 3 TwwiaE Tad

49. fasfefreefm T @b EREtR v 2
(A) SRS &
(B) @I ber
(C) 2RGIeH b
(D) TATA 5&F

50. FF-o011 (A TN-YIS SR AT @ SR
FRACLATE IR
(A) &< =017 (Fabric filter)
(B) TE@ROITE (29569 (Electrostatic

precipitator)

(C) CIRGRFEaIs FIETR64 (Centrifugal collector)
(D) @feRk 5F1F (Settling chamber)

51. fsfeireefrm g @@ [RegRewdt Jwfe
(analytical technique) @I TG =l AR 2

(A) B @A oHRT (FINGE
(B) 9P GISIICHIAIe

(C) @ FEIE

(D) Tefeme CoIF@EIHIBET
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52. Match the following and select the correct answer
from the codes given below:

List-1 List-11
(a) Aerosol concentration (i) Ceilometer

(b) Upward/Downward
longwave radiation

(c) Visibility

(d) Evapotranspiration

(i) Pyrgeometer

(iii) Lysimeter
(iv) Transmissometer

(e) Soil moisture

Codes:

@ ® @© @ @
(A) @) (@) av) @O (V)
B) Gi) @Gv) (v)  G) @)
© ® G 3Gv) @G (v)
D) Gv) (v) @) @ @)

(v) Tensiometer

53. Onwhatbasis mass spectrometer separatesions?
(A) Atomic mass
(B) Molecular mass
(C) Charge
(D) Mass to charge ratio

54. What is the relation between Gibbs free energy
(G) and the electromotive force (EMF) of a cell?

(F =Faraday, E = emf of the cell, n = number of
electrons)

(A) AG =-nFE ),
(B) G=-nFE,
(C) AG =-nE ),
(D) AG =-nF

55. Which one of the following is the fastest
technique for measuring organic carbon?

(A) COD
(B) BOD;
(C) BOD;
(D) TOC

X-14

52. fEReslR S e T @R AT @FIe’
Qefa e ¢

-1 ©IfermL-11
(a) GERICNER 9% (i) Pr=iGE
(b) THIAY/ T Aifommge (i) FfremR

BT
OREIEIRIGIT (i) =RARGR
(d) TSIAGHPIE= (iv) GEeReER
ORIUCERGIEASI ) (v) GabrefiGE
IOEfT ¢

@@ b @© (@ (@
A G @) Gy @ (V)
B) () vy v @ @
© @ Gy @Gv) 3> (v)
D) @Gv) (v @) @G 6

53, SIP C@RFEIRGIA (Mass Spectrometer) JIGTA
Toia1 97 03 O (ion)&ferd 5j2F1a0 07 AH?

(A) #1999 ©9 (Atomic mass)

(B) @9 ©< (Molecular mass)

(C) BI% (Charge)

(D) maaamw% (Mass to charge ratio)

54. &35! Cell-93 fowta fo f&F @aifE (Gibb's free

energy) (G) 43R @IS @ (EMF)-aa 7=1F 1 2

(F =Faraday, E = emf of the cell, n = number of
electrons)

(A) AG =—nFE
(B) G =-nFE,
(C) AG =—-nE,
(D) AG =—-nF

55. (@9 Amfed ARE AU OIorels/we W
T I 1 A2

(A) COD
(B) BOD;
(C) BOD;
(D) TOC



56. Which one of the following radionuclides has
the longest half-life?

(A) c
(B) S
(C) 1131
(D) Cs"’

57. Usually the values of DO and BOD are
(A) Proportional to each other
(B) Not related to each other
(C) Always same

(D) Inversely proportional to each other

58. Whatreagent (s) is/are added to water treatment
tank to settle colloidal particles?

(A) Alum and Ferric sulphate
(B) Limestone

(C) Lime

(D) Potash

59. Ozone layer depletion causes the entry of a
specific range of wavelength to cause human DNA
damage. Which one of the following wavelength range
is correct?

(A) 315400 nm
(B) 280 —315nm
(C) 100 — 280 nm
(D) 450 — 540 nm

60. In which of the following international
agreements Clean Development Mechanism (CDM)
was first introduced?

(A) Rio-Summit

(B) Montreal Protocol
(C) Paris Agreement
(D) Kyoto Protocol

X-15
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56. fisfeie @foefCFTesf™ (radionuclides) s
IR Q- AR ([ 2

( A) C14

(B) Sr*°

(C) 1131

(D) Cs"’

57. AGETSI@ DO @R BOD-4F ¥« 2&7
(A) OCF SR AL TG |
(B) T BG4 AN IS 73 |
(C) It =i |
(D) AT SR AN AT |

58. T (IS @RS #Nf5 (Colloidal
particle) SRCFICR (settle) &0 (@« @S (7)
GRS P12 2

(A) &N @3 (TR ARG (Alum and Ferric
sulphate)

(B) sENEGE (Limestone)
(C) =713 (Lime)
(D) =G (Potash)

59. S @ Y G WS R sasmcda
203! TOIT IR W@ DNA-F ooy T3 | Ffafie
(Pl SR A2

(A) 315-400 nm
(B) 280-315 nm
(C) 100-280 nm
(D) 450-540 nm

60. S SNEEoF piea s 3 (TemoItrs ifass
(CDM) 22 Se$E 41 27 ?

(A) fAe-AfG (Rio-Summit)

(B) S=IiGet (2B (Montreal Protocol)
(C) #hifa™1 @8t G (Paris Agreement)
(D) eI (@G (Kyoto Protocol)
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61. Which one of the following statement(s) is/are
correct?

Choose correct answer code.

(a) Diameter of the Aitken mode particle is in
between 10 and 100 nm.

(b) Atmospheric particles with diameter less than
100 nm are known as nucleation-mode particles.

(c) Hygroscopic airborne particles act as an efficient
cloud condensation nuclei.

(d) Saturationmixingratioisinversely proportional
to temperature.

Codes:
(a) (b) (©) (d)
(A) True False True False
(B) True True
(C) False True False True
(D) False False True True

False False

62. Cyanide is rapidly lethal because the target is

(A) Cytochrome a, in the mitochondrial
electron transport chain

(B) Golgibody
(C) Cell membrane

(D) Bindingsites onthe protein metallothionein

63. Which hazardous substance is released from
batteries?

(A) Arsenic
(B) Barium
(C) Cobalt
(D) Cadmium

64. Lightning in the atmosphere produces
(A) NO
(B) CO
(©) CO,
(D) NH,

X-16

61. fafie RFfoelr wur @l s o
el (A AT @re Hda s ¢

(a) 925 GIIT (Aitken Mode) 17 7T 10 (AT
100 =TG- e |

(b) AT F @B WP 100 MEARGIET To—

I 0 TR (IS <l |
(¢) TRAEPIFIY-Toe TN T FIOT ST
ez fetia feasiie = |
(d) TI@ el SIS I @ISl AL A1 |
(PO 8
@ @® @© @@
A) e w1 foe ww
®B) B e w1
© w1 s v <
D) w1 g e

62. BT Y7 TS TIANe! T O o) 28
(A) TRHFAGTE G GG G
ARG ay
(B) st
(C) sl
(D) 2w GHItNST-97 I B

63. @IF Reresess smieS i e fofe 232
(A) SieioE (Arsenic)
(B) IfFI (Barium)
(C) (FRFG (Cobalt)
(D) SRR (Cadmium)

64. IINSTE IGATS TLAT IR
(A) NO
(B) CO
(C) CO,
(D) NH,



65. Which anthropogenic activity is notresponsible
for increase of CO, level in the atmosphere?

(A) Fossil fuel consumption
(B) Deforestation

(C) Afforestation

(D) Mining and smelting

66. Which one of the following is responsible for
the leaf curling in plants?

(A) SO,
(B) H,S
(©) O,
(D) All of the above

67. Which statementis true with respect to endocrine
disrupter?

(A) Natural and manmade chemicals which
interfere with hormonal functions of the
body.

(B) They arefound in many everyday products.

(C) They cause adverse effects in animals and
humans.

(D) All of the above

68. Which gaseous pollutants can be reduced in a
three-way catalytic converter?

(A) NO,, HC and SO,
(B) NO,, CH, and HC
(C) CO, HC and NO,
(D) CO,, CO and SO,

69. Phon is the number of dBs produced at a
frequency of

(A) 500 Hz

(B) 1000 Hz
(C) 2000 Hz
(D) 4000 Hz

X-17
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65. (I SIAPTE Il I TIRSNZC I &
s e
(A) G gl 2R
(B) el
(C) e

(D) 3R €3R CIEDR

66. fsferfis @b Tfema sirel Fumg o=y wift 2
(A) SO,
(B) H,S
(C) O3
(D) 702 ARH

67. arliEr WW (endocrine disruptor) 3™ Fo
@ el Afow?

(A) 2o G ITAPTE IR @G 2JCH
TR IR Al 3B T |

(B) G SIS ey <R fafweE
e AT |

(C) 9=l 2l G AET Tl 2ffoge dela
71

(D) 702 AT

68. - HHITF FTSIFBIA (three-way catalytic
converter) QI (Pl (Ple] TRIIAFCE FC AR 2

(A) NOy, HC and SOy
(B) NOy, CH, and HC
(C) CO, HC and NOy

(D) CO,, CO and SOy

69. T (phon) T (i3 (TR TR fFRe @i
FIRRe Teolg &3

(A) 500 Hz

(B) 1000 Hz
(C) 2000 Hz
(D) 4000 Hz
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70. Which of the following type of coal contains
higher percentage of volatile matter?
(A) Peat
(B) Lignite
(C) Bituminous
(D) Anthracite

71. The half-life of a first order chemical reaction is

(A) Independent of initial concentration of the
reactant

(B) Directly proportional to the initial
concentration of the reactant

(C) Inversely proportional to the initial
concentration of the reactant

(D) Directly proportional to the square of initial
concentration of the reactant

72. Which of the following includes biodiesel under
the principle of green chemistry?

(A) Prevention of waste

(B) Safer solvents and auxiliaries
(C) Use of renewable feedstocks
(D) Use of catalysts

73. Which gas(es) is/are major constituent/s of LPG?
(A) Methane
(B) Butane
(C) Propane
(D) Both (B) and (C)

74. Which one of the following is correct sequence
in the process of coalification?

(A) Sub-bituminous—Bituminous—
Anthracite—Lignite

(B) Lignite—Sub-bituminous—Bituminous—
Anthracite

(C) Anthracite—Lignite—Bituminous—
Sub-bituminous

(D) Lignite—Anthracite—Bituminous—
Sub-bituminous

X-18

70. SRS @ 46T FTACS TH =R TR
s (volatile matter) SICZ ?

(A) T2G (Peat)

(B) fe191=i25 (Lignite)

(C) fGREM™ (Bituminous)
(D) SUMMIZG (Anthracite)

71. IR RfEce w6 wor fepiea-aa ww
RTLT 27
(A) fATF6M% (reactant)-93 2AIAfNF ooy
(concentration)-49 og S o3
(B) I=0S61% (reactant)-93 2AANF oy
(concentration -4 A AR AN
(C) fT=IFoI% (reactant)-93 2T 9livg
(concentration)-43 A IrBiiifoF
(D) ToUIF615 (reactant)-9F 2AANF lorgd
0o AN AR AN

72. fasfafs @l A fav @hifge Sifea
Sgofe FF?
(A) feteTie oI SEPE
(B) CTFIA FETCSCHH I TG T
(C) 2Tw o1 e Rrgso

(D) 3T I[F FGIHHGA

73. fasfeiie sipefer S @b @& 9 & (LPG)-=
241 T 2
(A) flces
(B) =&+
(C) (2=
(D) (B) 4<% (C) Te@R

74. @R (coalification)-93 2f&fecs (N0
A i (sequence) ?

(A) AR-RGFEET— RERmP— Speaepizs—
[RREIEY

(B) fersmizb — AR-RGfRam — RpRam—
RIERIIET)

(C) SHELMIZs — ozt — RERm —
ARG R

(D) &1omiEzs — piwgPEs — REHEe—
ARG



75. Inahydropower plant the function of a penstock
is to
(i) Carry water from the reservoir to the turbine

(i) Convert potential energy of water into kinetic
energy

(iii)) Convert potential energy of water to electrical
energy

(iv) Acts as a pressure neutralizer if a surge tank is
provided

Choose the correct answer:
(A) (1) and (ii) only

(B) (ii) and (iii) only

(©) (), (i1) and (iv) only
(D) All of the above

76. The term B10 implies:

(A) Blending of 90 per cent biodiesel with 10
per cent conventional diesel

(B) Blending of 10 per cent biodiesel with 90
per cent conventional diesel

(C) Blending of 50 per cent biodiesel with 50
per cent conventional diesel

(D) Blending 1 per cent biodiesel with 10
per cent conventional diesel

77. Which of the following energy sources is not
renewable on human time scale?

(A) Geothermal
(B) Biomass
(C) Natural gas
(D) Solar

X-19
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75. @3 2BGHNCT 2A5-@ (5T (penstock)-
g e

(i) SR (A AR~ ToTze 541 |

(i) TEE GRS @i FREHs @mifece
ARG 4l |

(i) SER NGRS e EdEIE GfEce
A i |

(iv) @f6 2R WegeRes (pressure neutralizer)-
GG A 71T (surge tank -4 TR |
AT TG e e ¢
(A) (i) €3¢ (ii) T2
(B) (ii) €% (iii) Tex2
(C) (i), (i) €% (iv) 70
(D) THER T2 AGF

76. B10 @109 (IR

(A) 90 *@i* JIETTEE €] 10 *i* 2bfere
(conventional) TereeTa fWwlel

(B) 10 *oiz«l IfGrest @R 90 *ois 2bfere
(conventional ) ToreeTa e

(C) 50 *[oi*l A @3k 50 *[Sik*! 2bfere
(conventional) TotecEa el

(D) 1 =[O AT @32 10 *1Si* 2bfeTe
(conventional) Totstag el

77. fAsfRe @ *fe BT WP BN F-9
AN 7 2
(A) fEcarsfe
(B) QAGINI
(©) aigfos Pt
(D) G
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78. Match the following and select the correct answer
from the codes given below:

List-1 List-11
(a) Primary Sedimentation (i) Separation of
microbial biomass
(b) Biological treatment (ii) Settlement in
lagoons; filtration
through sand and

gravel

(c) Secondary (iii) Clarify sewage by

sedimentation floatation as well as

settlement

(d) Tertiary treatment  (iv) Conversionofsoluble
and colloidal organic
matter into new cells

Codes:

@@ (b (© (@
@A) @) Gv) @ 3
B) (Gv) @) G @
© G @@ aGv) (i)
M  ® @) (Gv) (i)

79. How many primary characteristics can define
hazardous westes?

A1
(B) 2
© 3
(D) 4

80. E-waste Management Rules were notified in
India in the year

(A) 2010
(B) 2013
(C) 2016
(D) 2019
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78. @l O3 A ORI S T | [WEfEiie
ol (A AT @eh FE T ¢

eI
(a) aizwfa EfeECe=a

TRl

() GRS TRed
GRELED

(i) IS &
RfoFad; e e
ISR
afiel

(c) CTFEIR EEECEoA (i) SP
Rfowad smafox
S PR
IR B

(iv) TTS € TG
57 I 7IfFafee
FE To T -4
AAf7ere T4t

(b) &< oo

(d) S=brs Goers

(TS ¢

@@ b © (@
(A) () @Gv) @) 3
B) Gv) (@) ) @
© G (@@ @Gv) (i)
D) O a) Gv) (i)

79. Reteseis a6y sMieF i Al @R fofers
@IS (define) 1 22
(A) 1
(B) 2
© 3
(D) 4

80. ST 3-C@H WIEG Fo (E-waste
Management Rules) -43 (e (I =03 21feeT 2
(A) 2010
(B) 2013
(C) 2016
(D) 2019



81. Match List-I with List-11. Identify the correct
answer code from the codes given below:
List-1 List-11
(1) Biofilter (a) Liquid hazardous
waste disposal
(b) Solid phase
bioremediation

(iii) Deep injection well (c) Treatment of polluted
air emissions

(i) Biomethanation

(iv) Biopiles
Codes:

(d) Production of biogas

» @@ @) (@Gv)
@A © @ @ O
B ® © @ @
<G @ b © @@
M (© @ (@O (@

82. The equation H=-Y p;logp; is an expression
of
(A) Shannon-Weiner Diversity index
(B) Equitability
(C) Variety index
(D) Similarity index

83. Supposearandom variable ‘X’ has the following
probability distribution:

X 0 1 2 3
PX—X) : 01 03 04 02

Then the expected value of the random variable
‘X’ is

(A) 1

B) 15

©) 17

(D) 19

X-21
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81. Ol €3 A OIfFF-11 6 T+ | WEfafie
ol (A AT @eh FE T ¢

©IferR-1 TRl
(i) AREDR (a) FrFEe Fares
SRS TeCelies
(ii) ATLCTT (b) AfeTT et
RS E
(iii) o Tge sw@ (c) Tomrs o
ATSEHT G
QfpT]
(iv) A=A (d) CEATTIT o1
AT
(IO ¢

» ) 3> 1)
A © @@ @ O
B ® © @ @
<G @ b © @
D © @ @b @

82. H =—Y plogp, A= N5fie pwiba 2w 2
(A) *IN=-925 (Shannon-Weiner) Gize&H
AT
(B) 2B RED (Equitability)
(C) o=zl 2a0es (Variety index)
(D) &G 20ws (Similarity index)

83. {ITF G AN cefF@eEe X e (@R

TGRS (probability distribution) Z&1

X 0 1 2 3
PX—X) : 01 03 04 02

U TN (SRREETR 2onf*e T (expected
value) 2@

(A 1

B) 15

< 17

(D) 19
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84. Which of the following distribution is used to

determine that the two samples drawn from two
independent normal populations have the same
variance?

(A) t-distribution

(B) F-distribution

(C) Normal distribution

(D) y>2-distribution

85. Which is not the correct answer with respect to
Environmental Impact Assessment techniques?

(A) In ‘Checklist’ identification of impacts are

excellent

(B) ‘Adhoc method’ requires moderately
skilled staff

(C) ‘Networks method’ is fairly difficult to
apply

(D) ‘Matrix techniques’ are excellent to
interpret the impacts

86. The maximum number of days taken to give
Environmental Clearance for a building and
construction project as per EIA Notification 2006 is

(A) 210
(B) 105
(C) 90
(D) 45

87. Formal EIA became an integral part of
Environment Management in India by a Notification
for the first time in India

(A) 1990
(B) 1992
(C) 1994
(D) 1996

88. Which one of the following audits occupational
health and safety of workers?

(A) 1SO 9001
(B) ISO 14001
(C) ISO 14050
(D) 1SO 45001

X-22

84. e @ ATl Taze 27 74+ 1o
TN 92 =W T (independent) WIS 2A{CEI
(normal population)-93 fefere @R OME @I

eREme A2
(A) t- TG (t- distribution)
(B) F- f&ofGf<=4 (F- distribution)
(C) =i fefGfR*a (normal- distribution)
(D) x> feAGfAE (52 distribution)
85. fgferfie TeRATEIoIE TAANF SIEPITG

(Environmental Impact Assessment) “@foufera Sy
@I Mo Tag 7772

(A) ‘GF6EPE smfere 2o *erad F1 T
TFFOI

(B) “SIICZF AT Trely ARG T2 T ol

(C) ‘FOSTRFAGNS’ 2T FA A SPffEiiers

(D) WS *afore’ 2o il T A TS
T

86. EIA IRFEIN, 2006 S F<ifas Fofa
ST Ao TG feRR @R el e AT S 2
(Environmental Clearance) “I\S3< &<y ?

(A) 210 fa=t
(B) 105 fue
(C) 90 =
(D) 45 e

87. ©IRCe 2T (@ AlE AR [Ig7- ablere
A EIA-9F AN IHHSIE T& F1 22
(A) 1990
(B) 1992
(C) 1994
(D) 1996

88. 3@?1 (Occupational) Frgj @R e =ora
@Iod =4l S (audited) 91 2372
(A) ISO 9001
(B) ISO 14001
(C) ISO 14050
(D) ISO 45001
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89. Which one of the following Articles of the
Constitution of India states that “It shall be the duty of
every citizen of India to protect and improve the natural
environmentincluding forests, lakes, rivers and wildlife
and to have compassion for living creatures”?

(A) Article 51A(g)
(B) Article 21

(C) Article 14

(D) Article 48A

90. The sequence of stages in Environmental
Clearance for projects are

(A) Appraisal — Public Consultation —
Scoping — Screening

(B) Scoping — Screening — Public
Consultation — Appraisal

(C) Screening — Public Consultation —
Scoping — Appraisal

(D) Screening — Scoping — Public
Consultation — Appraisal

91. Environment policy aims to

(A) Use natural resources for economically
important industrial products

(B) Protect the values of the land owner

(C) Promote fairness among people and groups
in the use of resources

(D) Preserve all present natural areas in their
pristine condition

33-11

89. wieR R fEkie @i qi=w See
ez “ It shall be the duty of every citizen of India to
protect and improve the natural environment including
forests, lakes, river and wildlife and to have compassion
for living creatures”?

(A) 41 51A (2)
(B) =i 21

(C) «ial 14

(D) 4= 48A

90. 2FER @S QTtad (Clearance) el
gl dirief &

(A) SOz (Appraisal) — 2NREREEASGH
(Public Consultation)— G&/f?Iz (Scoping)
ﬁ&pﬁ‘{ (Screening)

(B) FIf?k (Scoping)— R (Screening)—
ARfeE ST (Public Consultation)—
<ieEeiel (Appraisal)

(C) T&R (Screening)— ARfGETE FAGIT
(Public Consultation)— G&{#k (Scoping)—
<leiEeiel (Appraisal)

(D) f&aR (Screening)— GFIPR (Scoping)—
9ﬁ?ﬁﬁsQrﬂlﬂ‘l?ifﬁ“ﬁ_\[(PublicConsultation)—
<ieiEeiel (Appraisal)

91. “Iffa @€ NS (environmental policy)-4
&T5F/ Sl e

(A) G2 T ARFReF T 27 41 @afe
STl wrgeld Mamee Serlfre T

(B) &g Aferra &7 56l 1

(C) FTI7 RIS CF0q IF G (B To20N
TR F

(D) AFfeF Seefens o AT g7
T 41/ IRFF I (preserve)
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92. Which country first established ‘National

92. | (I (71 A= GO #IfI A<l (National

Environmental Agency’? Environmental Agency) Ziiq S ?
(A) Japan (A) G5
(B) Sweden

(C) Switzerland
(D) Finland

93. Read the following statements:

(a) Gap analysis uses GIS to overlay protected
conservation areas with low-biodiversity areas

(b) CITES(1975) is a step toward worldwide
protection of extinct flora and fauna

(c) Vulnerable species have been locally depleted by
human activities

(d) Invasive species are major threat to native

biodiversity

Choose the correct answer code from the codes
given below:

Codes:

(a) (b) () (d)

(A) True False True False

(B) False False True True

(C) False False True True

(D) False True True False

94. Box-model approaches for atmospheric
dispersion of pollutants indicate

(i) A typical time period is 24 hours in box-model

(i1) It is frequently used to analyze the air quality
impacts of air-ports

(iii) Thebox-model canbe used for single-pointsource
only

(iv) A typical box-model considers rationale,
downwind, crosswind and vertical dimension of
the box

Choose the correct answer code from the
following:

Codes:
(A) (i) and (ii) are correct
(B) (i), (i1) and (iv) are correct

(C) (ii) and (iv) are correct

(D) (iii) and (iv) are not correct

(B) 2o
(C) RIS
(D) e

93. fasfeiie Rgfouf = e

(a) GIS @ st Resel I RIFFS FGIACSIA
BIE "GRG WA’ TofF 2 @efe1 FH-GRAbay
Tiee 2T Ao

(b) CITES (1975) =& Rttt Reqe Sfen @ G-
A ATHCET G0 iof

(c) FFOIN Fefoma AR I ANSTR I 2
el Tq-2e

(d) 3ZF5S (Invasive) 2 @RR GREDG-A9F
TFHA GF0 2L FIE

AR @owli (@ AT @I [ e ¢
ISOIUR
@ O © @
A) o e s @
B) i wi for %
© wi v e B9
D) v fov B @A

94. IF-TE AR AR vggel ot sca—
(i) - S ATTAN 24 995

(i) «f6 Toa7 GG AR welorowlw ez
BJ&

(iil) TI-SOTF-9 G5 (R T (single-point source)

(iv) <3 o<l Fg-sces ot s gieeef e
(rationale), =Y 4f (downwind), TS
(cross wind ) 3 A @I G GIRE (vertical
dimension)

e @es A 70 @e i o ¢
TS

(A) (i) 9= (i) A=

(B) (i), (i) =¥ (iv) A

(C) (ii) @R (iv) AF

(D) (iii) @R (iv) 7S 7@




95. In which year Basel Convention was signed?
(A) 1999
(B) 1979
(C) 1959
(D) 1989

96. Todetectthe height of Tsunamiwaves along the
coast, coastal tide gauges are placed offshore at a
distance of

(A) 100 km
(B) 75km
(C) 50 km
(D) 25km

97. For groundwater exploration the best
geophysical method is

(A) Gravity

(B) Resistivity

(C) Seismic reflection
(D) Magnetic field

98. Basel Convention is related to
(A) lllegal trade of animals and animal parts.
(B) Conservation of endangered animal species.
(C) Conservation of endangered plant species.

(D) Trans-boundary movement of hazardous
wastes and their disposal.

X-25
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95, JIETE FACTI (I AN TS 23 2

(A) 1999

(B) 1979

(C) 1959

(D) 1989

96. TSGR TSl AR Tielj ST ST
TS FACY (FPOE BIRT (orer AN 82

(A) Soo R (100 km)
(B) a¢ ff (75 km)
(C) eo T (50 km)
(D) ¢ W (25 km)

97. T-ISTSEI PRI @ e-(olfeF (Geophysical)
IREG AT IRLFA—
(A) a7ifefb (Gravity)
(B) @ADL (Resistivity)
© Cﬂﬂﬁﬁs #fwe™ (Seismic reflection)
(D) (5% (g (Magnetic field)

98. AT FCoT* (T KA ML J& 2
(A) I @R 2R @RI N Sy 5
(B) Qo 2@ arerifon sz
(C) iy Sfen awifor ezl

(D) Roiesass 97 24 ¢ ©Iia TZIola HLG @
BINIGI GR O FCwatel
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99. What action(s) can be helpful in reducing the
warming of Earth?
(A) Reducing the dependence on fossil fuel

(B) Promoting non-conventional sources of
energy

(C) Judicious use of natural resources
(D) All of the above

100. How many ‘Sustainable Development Goals’
are enlisted for sustainable development adopted by
United Nation in 2015?

(A) 15
(B) 17
©) 12
(D) 10

X-26

99. (FIv LA IRl o} TRere FCS AR
P

(A) G gEifee afs FSaet i

(B) WI2bfTe *ifeq T IR Teifze w4
(C) Rverslz M AFFos F™>=ima a2
(D) & Tex AF

100. Z7ig 2015 AE G TAAER A0 Foule

‘(572 BT eENIEl (AR 2
(A) 15
(B) 17
©) 12
(D) 10
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